SOLUTION

Eight if by School Bus by Ben Smith

From the mentions of standardized testing in the flavortext for this puzzle, solvers should deduce that this
is what they need their Scantron form for.

This is a paint-by-numbers puzzle (25 x 5 for hard teams, 15 x 5 for normal teams). Once solvers have
correctly filled in the bubbles on the test form, the filled in sections should resemble a picture of ... nothing
in particular.

That’s because each row is meant to be interpreted as its binary equivalent. Teams should deduce from
the flavortext’s reference to “negative space” that rather than using the black bubbles they filled in,
they should use the empty spaces as binary ones. Converting each row to its corresponding letter of the

alphabet will reveal the answer, CRITICAL DENSITY.
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(T) (F) KEY (T) (F) KEY
[ ] C%J C231 C33 C53 [ ] C%J C231 C33 C53
== 1 CAJ mem wem CDIJ CEJ § = 1 wam mem wesm DI CEJ1 C
= 2 smm CBJ CC3I CDJ CEJ Q = 2 CA] wem mem CDJ msm R
== 3 smm CBJ CCJ mem mEm | == 3 smm CB] mem m@Em CEJ |
== 4 CAJ msm CCJ] wmem CEJ | == 4 CAJ msm [CJ] mbm msm T
== 5 CAJ] m8m CC] mem mEm T == 5 smm CB] mem m@E CEJ |
™= 6 wam CB] mem mem CEJ | == 6 wam mem wmem DI CEJ C
= 7 smm CBJ CCI CDJ CEJ Q == 7 sam mSE mOE BBE [CEJ A
== g mmm CBJ CCI CDI mam |\ == 8 mmm CBJ CCJ mom mem |
= 9 mmm CB] mem m@E CEJ | = 9 mam mSE [CJ] som mem D
== 10 CAJ mem mem CDJ CEJ § == 10 = mem [C] m@mm CEJ1 E
|1 eam wmem wmem CDJ CEJ C = |1 wem CBl CC3 CDJI msm |\
= |12 CAZ wem msm CDJ mssm R == |12 CAD mem mem CDI CE1 §
= |13 mmem CBI mem mem CEJ | |13 wmm CB] mem mem CEJ |
= |14 CAI mem CC] sem msm T = |14 CAD mem CC] sem msm T
== |1 smm CBI] mem mem CEJ | =15 CAJ CB] mem meam CEJ1 Y
= |16 wam mem mem CDJ CEJ C = |16 CAJ CBd CC3 CDJ CE3J
=117 sam m8s mem B@E CEJ1 A ™= 117 CAJ CBJ CCJ1 CD1 CE1J
A = |13 wmm CB] CC] mom mam | A = |18 CAJ CBJ CC3 CDJ CE3J
=119 sam m8m CCJ mem mEm D ™= 119 CAJ CBJ CCJ1 CD1 CE1J
=2 eam mem CC] mem CEJ E =2 cAl CB31 CC3 CDJ CE3J
= 21 mma CBI CC31 CDI mmm |\ = 21 CAJ CBl1 CC1 CDI CE1J
22 CA] mBm meE (DI CEZX S 22 CAJI CBJI CCI1 CD1 CEZ
= 23 sam CB] mem mem CEJ | == 23 CAJ CBJ CC3 CDJ CE3J
= 24 CA] mem CCI] mom mem T == 24 CAJ1 CBJ1 CC3 CDJ CE1J
= 25 CAJ CB] mem mem CEJ Y == 25 CAJ CBJ CC3 CDJ CE3J
~L_ ™ 26 CAJ_CBJ CCJ CD1 CE2J — ~L_ ™ 26 CAJ_CBJ CC3 CD1 CE1l —
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